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ОПШТА УПУТСТВА

Пажљиво прочитајте сва упутства и следите их.
Не окрећите страну и не решавајте задатке док то не одобри дежурни наставник.
Налепите идентификационе налепнице на све испитне материјале које сте добили 
у сигурносној врећици.
Испит Читања траје 70 минута.
Испит се састоји од задатака повезивања, задатака вишеструког избора и задатка 
допуњавања. 

•	 У задацима повезивања сваки садржај означен бројем повежите са  
одговарајућим садржајем који је означен словом (задаци 1 и 3).

•	 У задацима вишеструког избора од више понуђених одговора одаберите само 
један (задаци 2 и 4).

За помоћ при решавању ових задатака можете писати по странама ове испитне 
књижице.
Тачне одговоре морате означити знаком X на листу за одговоре.

•	 У задатку допуњавања допуните празнине уписивањем садржаја који  
недостаје (задатак 5).

Одговоре упишите само на предвиђено место у овој испитној књижици.  
Пишите читко. Нечитки одговори бодоваће се са нула (0) бодова.
Користите искључиво хемијску оловку која пише плавом или црном бојом.
Када решите задатке, проверите одговоре.

Желимо Вам много успеха!

Ова испитна књижица има 16 страна, од тога 2 празне.

Ако сте погрешили у писању одговора, исправите овако: 

а) задатак затвореног типа

б) задатак отвореног типа

Правилно НеправилноИсправак неправилног уноса

Прецртан нетачан одговор у заградама Тачан одговор

(Marko Marulić)          Petar Preradović

Скраћени потпис

Скраћени потписПреписан тачан одговор
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Task 1
Questions 1-12

You are going to read an article in which people talk about railway experiences.
For questions 1-12, choose from the people A-F. 
Mark your answer on the answer sheet.  
There is an example at the beginning (0).

Railway Experiences

A          Alec B          Brooke
I’d been stuck in my room for two weeks, 
recovering from an illness. So, against my 
doctor’s advice, I decided to travel again. 
I took a three-day train trip that I’d taken 
many years before as a student on what 
was the most exciting adventure of my 
life. But everything had changed. Perhaps 
because of globalisation. Now everywhere 
seemed the same; everyone seemed to be 
dressed the same. Perhaps I had changed. 
I missed the atmosphere of adventure and 
began to regret my decision. So I got off the 
train and flew back to my home and my bed. 

It didn’t start well, seeing my train leave the 
station without me. So I decided to think 
positive: I would only be ten minutes late 
and it wouldn’t be the end of the world if I 
missed the interview. Fifteen minutes later, 
I was watching the countryside roll by. After 
catching up with my emails and dealing with 
the office ones, I did what I usually do on 
train rides – daydream of being somewhere 
exciting or beautiful. When I arrived for 
the interview, I realised that I needn’t have 
worried because one of the interviewers 
hadn’t yet arrived.

C          Chloe D          Daniel
So I was standing in the corridor, next to the 
open window, breathing in the rushing air. 
How I longed to be back where I had come 
from. I even found myself longing for the 
crowded commuter trains I was on holiday 
to get away from. In the compartment I’d just 
left, I’d been squeezed between people and 
piles of luggage, with the carriage swaying 
with the many bends in the track, which had 
made my stomach turn so much that I had 
got up, found my backpack and escaped 
into the corridor. 

I was returning home after a day searching 
the bookshops in London, my carriage 
full of foreigners from language schools 
that regularly fill this train after a day’s 
sightseeing in London. London exhausts 
me, so I stared at my newspaper, trying to 
distance myself from the people around me. 
The next thing I knew was that one of them 
was shaking my shoulder and gesturing me 
to get off the train. He must have thought I 
was one of them. And it’s a good thing he 
woke me, because otherwise I would have 
missed my connection.
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E          Ellis F          Francesca
I was on the train coming home, and it was 
packed. Some teenagers had taken up 
the seats and of course it never occurred 
to them to get up for an older person like 
me. I’d had enough of it, this commuting, 
in a crowded compartment. I stared at the 
window, which reflected the ghost-like lit-up 
strained faces of the commuters. And I saw 
my own face, staring back at me out of the 
blackness, and I knew I was sick of this daily 
travel. My mind was made up. It was time 
for a change. 

I’m a Londoner, born there, brought up 
there, the place is in my blood. Then I left 
the country for a number of years. When I 
returned, I was on the familiar underground 
train, this time with my bags and suitcase 
weighing me down, far from the light of 
day, surrounded by people on their way to 
work, with their morning newspapers, some 
working on laptops, just like me a few years 
before – but now it looked strange, like I was 
in another country. I had come home, but I 
didn’t feel at home.

Which person…

0    had wanted to buy a book? 
1    had to change trains?
2    had a lot of luggage?
3    missed their train?
4    made their journey after dark?
5    fell asleep?
6    did not have a seat?
7    was homesick?
8    did some work on their journey?
9    felt like a tourist?
10  changed their mind?
11  was on their regular journey?
12  was travel sick?
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Task 2
Questions 13-18

Read the article Giant-Man Stanley Cook. 
For questions 13-18, choose the correct answer (A, B, C or D). 
Mark your answer on the answer sheet.

Giant-Man Stanley Cook

     Stanley Cook was in the Guinness Book of Records from 1967 to 1993 as the tallest man 
in England, where he was reported to have measured 8ft 4in (2.44m) – a fact that, his great-
nephew, Jim Cook, who lives in Ontario, Canada, and has researched Stanley’s life, says is 
an exaggeration.
     Stanley Cook was born in 1891 in London, the second youngest of four sons. After 
his father died on Christmas Day, 1899, his mother struggled to make ends meet, and 
Cook, then aged eight, and his two-year-old brother George were placed in care. “He was 
remarkably tall for his age,” said Jim Cook. “He was a happy boy, who realized it paid to 
entertain the others and make them laugh.” The brothers were sent to homes in Canada 
to learn agricultural skills, but Cook was unfit for farm work and, in 1909, he returned to 
England to find factory work. 
     In the spring of 1911, Cook was the tallest man in a parade of giants as part of the 
celebrations for the coronation of King George V. He was said to stand 7ft 4in tall, and the 
attention he received from the press and public was his first indication that his unusual 
height might be a means to make a living away from a factory.  He was approached by Don 
Banks, who offered to find him work in Ashton’s Circus.  
     “Of course Stanley was a freak,” said his great-nephew, “and that’s what people paid to 
see. He was free to travel since he didn’t have a home of his own or anything to keep him 
where he was. And he was a happy, well-adjusted chap. He liked to talk to the public and 
see them enjoy themselves.” In June 1911 Cook earned his first salary as a professional 
giant in Ashton’s Circus at Chigwell in Essex.
     “His height could be seen as a blessing,” said Jim Cook, “because it gave him a life he 
could never otherwise have enjoyed,” including a tour of Europe in early 1914. His picture 
appeared in newspapers all over the world. “Suddenly newspapers were reporting that he 
stood 8ft 11in.”
     Jim Cook believes his manager, Don Banks, was the source of this. “He made the most 
of Stanley’s size. Of course Don ‘stretched’ the truth. He just wanted to bring in the crowds.” 
Stanley claimed he was 8ft 4in and continued to do so for the rest of his life. His doctor’s 
case notes say he stood 7ft 9in tall, which is now known to have been the case.
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     Stanley stayed with the circus until his death in 1918, aged 27. “He died young, but he 
had a unique life,’’ said Jim. “He travelled widely, had a good working relationship with Don, 
who never took advantage of him, and the circus provided him with a family.”
For Jim Cook, his great-uncle’s fame has enabled long-lost family members to find each 
other. “I’ve been to places I’d never have been, doing this research, from Canada to Britain, 
the States and Australia. The expenses have been huge, and well worth it. I’d say that its 
role in helping me reconnect with family has been its greatest gift to me. It’s nice to think that 
Stanley is still remembered after all these years.”

13  What was his main reason for joining a circus?

A  It gave him the chance to travel.
B  He didn’t have a home.
C  He needed the money.
D  He enjoyed entertaining people.

14  He realized that he could make money out of his height

A  when he was in care.
B  while he was in Canada.
C  during a royal celebration.
D  at Chigwell. 

15  How did he feel about his height?

A  It did not trouble him.
B  He felt he was a freak.
C  He thought people laughed at him.
D  He was grateful for it. 
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16  His manager

A  lied to him.
B  exploited him.
C  treated him fairly.
D  treated him like a member of the family.

17  Jim Cook is particularly appreciative of the fact that

A  he has found out about his family.
B  he has had the chance to travel.
C  he has received money for his work.
D  he has revived the memory of his great-uncle.

18  What was Stanley Cook’s true height?

A  7ft 4in.
B  7ft 9in.
C  8ft 4in.
D  8ft 11in.
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Task 3
Questions 19-24

Read the article about personality research.
For questions 19-24, choose from the sentences A-H the one which best fits the gap. 
Mark your answer on the answer sheet. 
There are two letters which you do not need. 
There is an example at the beginning (0).
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The desire to define ourselves

    Think of the last time you tried to describe someone, or attempted to explain your own 
behaviour to another person. Chances are you used words such as “shy” or “confident”, 
“friendly” or “reserved”. When trying to understand our own, or other people’s behaviour, we 
tend to fall back on these psychological categories without even thinking. (0) ___. Of course, 
in reality none of us is so easily defined. 
    And yet the desire to define ourselves is undeniable. Personality, by which we generally 
mean the thoughts, feelings and behaviour that make each of us individual, fascinates and 
challenges us. (19) ___. Meanwhile, our identity and relation to the world is defined in the 
categories psychologists and scientists have identified.
In reality, we are all made up of conflicting traits. (20) ___. For example, we can be careful 
and controlling in one area but spontaneous thrill-seekers in another. So can the contradictory 
nature of human behaviour ever be neatly classified into a set of universal traits? The 
Victorians certainly thought so. 
    Towards the end of the nineteenth century, Sir Francis Galton pioneered an approach 
called lexical analysis, proposing that the most significant personality differences in people’s 
lives were encoded in their language. (21) ___. This theory was debated and refined over the 
next 100 years. In 1936, US psychologists Gordon Allport and H. S. Odbert extracted almost 
18,000 personality-describing words and reduced them to around 5,000 common traits. 
Soon after, psychologist Raymond Cattell took those terms and reduced them further to 171 
and then to 16. He then identified five broad traits that came to be known as “the big five”: 
openness, neuroticism, conscientiousness, extroversion and agreeableness. (22) ___. If, say, 
you register high in openness, you are likely to be emotionally adventurous, willing to try new 
things and intellectually curious. 
    But what, you may be wondering, was the point of focusing so intently on personality 
research? What did researchers such as Galton and Cattell hope to gain? (23) ___. 
Personality is only of interest to psychologists if it can give them information about how we’re 
likely to behave – now and in the future. 
    Rita Carter has recently published research which argues that people behave differently 
depending on context. (24) ___. “Instead of saying we’re one particular type,” she says, “it is 
more complex. You need to examine each of our individual personalities and then look at how 
they fight each other.” 
    Are we entirely predictable creatures that can be classified according to a finite number of 
traits, or do we adapt according to our mood and situation? The debate continues.

I
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A  	They tended to define personality purely as a potentiality to behave in a certain way – focusing 
entirely on probable and predicted outcome.

B  	Aside from the satisfaction of cracking the code of human personality, the aim was to predict 
human behaviour. 

C  	If we could sample language, we could build a complete lexicon of human personality traits. 

D  	Psychologists and scientists have devoted themselves to the goal of understanding it for more 	
than a century. 

E  	As every parent knows, a child is born with strikingly recognisable traits, many that are different 
from those of their parents or their other siblings. 

F  	They make us the individuals that we are, but also unpredictable. 

G  	Each trait indicates or predicts the way you may behave in certain situations. 

H  	It shows that we have several personalities, and the one that comes to the fore depends on the 	
situation we find ourselves in. 

I   	One friend is optimistic, seeing the world from a generally hopeful perspective, while the 
other is the opposite, a gloomy pessimist.  
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Task 4
Questions 25-32

Read the text about life in the city.
For questions 25-32, choose the answer (A, B, C or D) that best fits each space.
Mark your answer on the answer sheet.
There is an example at the beginning (0).

Life in the City

     The pace of city life is obviously (0) ___ hectic than that in the country. People in cities 
walk (25) ___ average at 1 to 1.5 metres per second, considerably faster than in villages. For 
the past 30 years we (26) ___ told the hurried pace of urban life is potentially more harmful. 
But research says that the noise and bustle of city life produces so much adrenaline that we 
become addicted to the excitement it gives us. We even speed up to maximise the (27) ___ 
of the pleasure we start experiencing. For example, we try to do many things simultaneously, 
such as driving and talking on the phone. 
     We have adapted to city life in other ways too, learning to respect another person’s space 
so as (28) ___ on their privacy. Shopping transactions take place (29) ___ a distance of at 
least 1.5 metres, while friends talk a metre apart. These social rules allow us to retain our 
privacy but make the beginning of a friendship with strangers more difficult, (30) ___ turns the 
city into a lonely place. The long-term city dweller has about 1,800 people whom they know 
and could potentially have a social interaction with; (31) ___, they end up having no more 
than five. 
     One thing is certain. Enjoying city life would not be possible if the inhabitants (32) ___ by a 
set of strict rules. The rules that make life in the city easier. 

0    

A  far      
B  the most   
C  most      
D  more

D
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25  

A  for      
B  by    
C  in        
D  on      

26  

A  are      
B  were    
C  have been    
D  had been

27  

A  intensity    
B  strength  
C  force        
D  volume

28  

A  not intrude  
B  not to intrude   
C  not intruding     
D  intruding not

29  

A  on      
B  at      
C  in        
D  during 
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30  

A  which    
B  what    
C  that      
D  this

31  

A  meanwhile    
B  however  
C  moreover     
D  therefore

32  

A  do not live  
B  will not live   
C  are not living        
D  were not living
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Task 5
Questions 33-40

Read and complete the text below.
Fill each space (33-40) with one word. Write your answer only here in this exam booklet.
There is an example at the beginning (0).

CERN

     The European Organization for Nuclear Research, (0) ___ as CERN, is an international 
organization (33) ___ purpose is to operate the world’s largest particle physics laboratory. It is 
situated in the northwest suburbs of Geneva on the border of France and Switzerland and was 
established in 1954. Twenty European countries (34) ___ part in its work. The name CERN also 
refers (35) ___ the laboratory, which employs 2,400 full-time employees and hosts 10,000 visiting 
scientists and engineers, representing 113 nationalities.
     CERN provides the accelerators and other equipment needed for high-energy physics research. 
Numerous experiments have been conducted (36) ___ CERN by scientists from all over the world. 
It is the birthplace of the World Wide Web. CERN has a large and powerful computer centre for 
analysing experimental data and it (37) ___ this data immediately available to researchers around 
the world. 
     After analysing trillions of collisions between protons, CERN’s researchers seem to (38) ___ found 
the subatomic particle called the Higgs boson. This basic building block of the universe was imagined 
and named 50 years (39) ___ by theoretical physicist Peter Higgs. The discovery of this particle 
opens the way to detailed studies which might result (40) ___ an explanation of the way the universe 
was ordered after the chaos of the Big Bang.

  0  ____________

33  ____________

34  ____________

35  ____________

36  ____________

37  ____________

38  ____________

39  ____________

40  ____________
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